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Instructions:
(1) All questions are compulsory.
(2) Draw neat diagrams wherever applicable.

(3) Assume suitable data. if necessary.

Max. | CO BT
Marks level
Q1 | Solve any six questions out of eight: 12
i) Define Band Pass Filter with its characteristics 02 co1 R
ii) Define and explain circular time shift property 02 co2 R
iii) | Calculate DFT of the sequence. x(n)= {1.2.1.2} 02 cO?2 A
iv) Write disadvantages of FIR filter 02 CO3 R
V) Summarise aliasing effect 02 CO3 U




Vi) Write short note on design of FIR filter 02 CO4 R
vii) | Write about dead band and limit cycle 02 CcOs R
viii) | Define DTMF in DSP 02 CO6 R
2l
| Q.2 | Solve any four questions out of six. 16
i) I. Solve the low pass filter described by the difference equation 04 COl A
:J y{n)=-2y[n-1) +0.7x(n)
|
ii) |. Compute 4-point FFT of the sequence, x(n)= {0,2,3,-1} using DIT-FFT (4 coO2 A
! | method
b
i) | Find the conversion from S to Z domain in bilinear transformation 04 CO3 U
|i iv) | Write specifications of digital IIR filter 04 CO4 U
v) | Explain quantization steps for B=03 04 CO5 A
.‘ |
Al
vi) Write different applications of DSP and explain any one in detail. 04 CO6 U
OR
]' Q.3 | Solve any two questions out of three. 16
TR = 3
| i) ' Explain all pass filter 08 COl A
|
i) Realize the structure of FIR high pass filter using hamming window | 08 a3 A

( with cut-off frequency 0.8 rad/sample for N=07.




iii) | .. : : o His= 1 ift |08 Cos |1
|1 Study for second order 1R filter H(z) G=t5 T oa= the shift
in pole with 3-bits in cascade form realization.
' Q.4 | Solve any two questions out of three. 16
|
i) Determine the response using DIT FFT in LTI system the input 08 CO2 An
| [ X(n)={1,2.3} and impulse response h(n)={-1.-1}.
| I'
ii) | Determine the poles of low pass Butterworth filter for N=6 Sketch 08 CO4 An
the location and find normalised transfer function
|
i) | Explain Channel vocoder with block diagram 08 CO6 A




